

			т	abulation of B	ids			Page 1 of 11
Cont	tract ID: 24126			Counties:	OCEAN			
Lettir	ng Date: July 30	, 2024		District(s):	C1			
Cal	I Order: 126			Project(s):	0070322			
Contrac	ct Time: 09/23/2	25 COMPLETION DA	ΛTE	Min:	Max:			
Contra	ct Description:	Rt 70, South Branc	h Rd/North Brand	ch Rd to Woodv	riew Dr			
Line No / Item Des			(1) ASPHAL SYSTEN					
Alt Set / /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	16,300.00000	16,300.00				
PERFORM/ PAYMENT	ANCE BOND AND BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRESS	S SCHEDULE	LS						
0004	153005M	5.000	8,000.00000	40,000.00				
PROGRESS	S SCHEDULE UPD	DATE U						
0005	154003P	(1)	272,000.00000	272,000.00				
MOBILIZAT	ION	LS						
0009	159003M	45.000	1.00000	45.00				
BREAKAW	AY BARRICADE	U						
0010	159006M	500.000	1.00000	500.00				
DRUM		U						



			т	abulation of Bi	ids			Page 2 of 11
C	ontract ID: 24126			Counties:	OCEAN			
Le	tting Date: July 30,	2024		District(s):	C1			
C	Call Order: 126			Project(s):	0070322			
Cont	aract Time: 09/23/2	5 COMPLETION DA	TE	Min:	Max:			
Cont	tract Description:	Rt 70, South Branch	n Rd/North Bran	ch Rd to Woodv	iew Dr			
	lo / Item ID Description		(1) ASPHAL SYSTEN					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0011	159009M	500.000	40.00000	20,000.00				
TRAFFIC	CONE	U						
0012	159012M	1,400.000	22.20000	31,080.00				
CONSTR	RUCTION SIGNS	SF						
0013	159015M	2.000	2,500.00000	5,000.00				
CONSTF SIGN, 4'	RUCTION IDENTIFICA X 8'	TION U						
0014	159027M	2.000	10,000.00000	20,000.00				
ARROW	BOARD, 4' X 8'	U						
0015	159030M	2.000	18,000.00000	36,000.00				
PORTAE SIGN	BLE VARIABLE MESS	AGE U						



			т	abulation of Bi	ds			Page 3 of 11
Co	ontract ID: 24126			Counties:	OCEAN			
Let	ting Date: July 30	0, 2024		District(s):	C1			
C	Call Order: 126			Project(s):	0070322			
Contract Time: 09/23/25 COMPLETION DATE		TE	Min:	Max:				
Contract Description: Rt 70, South Branch Rd/North Branch Rd to W					iew Dr			
	o / Item ID escription		(1) ASPHAL SYSTEN					
Alt Set	: / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0016	159108M	2.000	15,000.00000	30,000.00				
	CONTROL TRUCK							
0017	159138M	5.000	4,000.00000	20,000.00				
HMA PA	ГСН	т						
0018	159141M	512.000	190.00000	97,280.00				
TRAFFIC	DIRECTOR, FLAG	GER HOUR						
0019	159262M	2.000	2,500.00000	5,000.00				
CONSTR SIGN, IIJ	RUCTION IDENTIFIC A 8' X 5'	ATION U						
0020	159300M	393,000.000	0.35000	137,550.00				
TRAFFIC	STRIPES, LATEX,	4" LF						



		Tabulation of B	ids	Page 4 of 11
Contract ID:	24126	Counties:	OCEAN	
Letting Date:	July 30, 2024	District(s):	C1	
Call Order:	126	Project(s):	0070322	
Contract Time:	09/23/25 COMPLETION DA	TE Min:	Max:	
Contract Descri	otion: Rt 70, South Branc	n Rd/North Branch Rd to Woodv	iew Dr	

Line No / I Item Desc			(1) ASPHAL SYSTEM					
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt S		Set:	Cat A	It Member:	t Member:	
0021 1	59312M	1,950.000	0.01000	19.50				
TRAFFIC MA LATEX, 8"	ARKINGS LINES,	LF						
0022 1	59314M	690.000	0.01000	6.90				
TRAFFIC MA LATEX, 24"	ARKINGS LINES,	LF						
0023 1	60004M	1.000	100.00000	100.00				
FUEL PRICE	ADJUSTMENT	DOLL						
0024 1	60007M	1.000	100.00000	100.00				
ASPHALT PI	RICE ADJUSTME	NT DOLL						
0025 1	61003P	(1)	38,000.00000	38,000.00				
FINAL CLEA	NUP	LS						



			т	abulation of B	ids			Page 5 of 11
c	contract ID: 24126			Counties:	OCEAN			
Le	etting Date: July 30	0, 2024		District(s):	C1			
	Call Order: 126			Project(s):	0070322			
Con	tract Time: 09/23/	25 COMPLETION DA	TE	Min:	Max:			
Cor	tract Description:	Rt 70, South Branch	n Rd/North Brand	ch Rd to Woody	view Dr			
	No / Item ID Description		(1) ASPHAL SYSTEN					
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	DN: 0001	Roadway	Cat Alt Se		t Set:	Cat Alt Member:		
0026	201003P	(1)	40,000.00000	40,000.00				
CLEAR	NG SITE	LS						
0027	302051P	20.000	750.00000	15,000.00				
	-GRADED AGGREGA OURSE, VARIABLE IESS	ATE CY						
0028	401021M	200.000	500.00000	100,000.00				
HOT MI REPAIF	X ASPHALT PAVEME	ENT SY						
0029	401024M	1,000.000	12.00000	12,000.00				
	G OF CRACKS IN HO LT SURFACE COURS							
0030	401030M	100.000	50.00000	5,000.00				
TACK C	OAT	GAL						



			т	abulation of Bi	ds			Page 6 of 11
C	ontract ID: 24126			Counties:	OCEAN			
Le	tting Date: July 3	0, 2024		District(s):	C1			
(Call Order: 126			Project(s):	0070322			
Cont	Contract Time: 09/23/25 COMPLETION D		ATE Min: Max:					
Contract Description: Rt 70, South Bran			h Rd/North Brand	ch Rd to Woodv	iew Dr			
	lo / Item ID Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	Roadway	Cat Alt Set:			Cat A	It Member:	
0031	421007M	110,000.000	4.98000	547,800.00				
MICROF	AVING JOINTS	LF						
0032	424110M	185,612.000	6.97000	1,293,715.64				
CHIP SE	AL PG88-22FR	SY						
0033	453006M	50.000	1,000.00000	50,000.00				
	EPTH CONCRETE ENT REPAIR, HMA	SY						
0034	610003M	131,000.000	0.56000	73,360.00				
TRAFFIC	C STRIPES, 4"	LF						
0035	610012M	1,236.000	1.25000	1,545.00				
RPM, MO LENS	ONO-DIRECTIONAL	, WHITE U						



		т	abulation of B	ids			Page 7 of 11
Contract ID: 24126			Counties:	OCEAN			
Letting Date: July 30, 2	024	District(s):		C1			
Call Order: 126			Project(s):	0070322			
Contract Time: 09/23/25	COMPLETION DA	TE	Min:	Max:			
Contract Description: Rt 70, South Branch Rd/North Branch Rd to Woodview Dr							
Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0036 610014M	650.000	3.88000	2,522.00				
TRAFFIC MARKING LINES, 8"	LF						
0037 610017M	230.000	7.50000	1,725.00				
TRAFFIC MARKING LINES, 24"	LF						
0038 610021M	535.000	120.40000	64,414.00				
RPM, BI-DIRECTIONAL, AMBER LENS	R U						
0039 610024M	535.000	100.00000	53,500.00				
REMOVAL OF RPM	U						
0040 610033M	110,000.000	0.69000	75,900.00				
RUMBLE STRIP	LF						
0041 610036M	131,000.000	0.85000	111,350.00				
REMOVAL OF TRAFFIC STRIPE	ES LF						



		Tabulation of Bi	ds			Page 8 of 11
Contract ID: 24126		Counties:	OCEAN			
Letting Date: July 30, 2024		District(s):	C1			
Call Order: 126		Project(s):	0070322			
Contract Time: 09/23/25 COM	PLETION DATE	Min:	Max:			
Contract Description: Rt 70, St 70, S	South Branch Rd/North	Branch Rd to Woodv	iew Dr			
Line No / Item ID Item Description		SPHALT PAVING (STEMS, INC.				
Alt Set / Alt Member Quantit	y and Units Unit Price	ce Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	adway	Cat Al	t Set:	Cat A	It Member:	
0042 610039M	730.000 7.8	7000 5,745.10				
REMOVAL OF TRAFFIC MARKINGS	SF					
0043 805003M	200.000 120.0	0000 24,000.00				
TURF REPAIR STRIP	LF					
Section Totals:		\$3,284,558.14				



		Т	abulation of B	ds			Page 9 of 11
Contract ID: 2412	6		Counties:	OCEAN			
Letting Date: July 3	30, 2024		District(s):	C1			
Call Order: 126			Project(s):	0070322			
Contract Time: 09/23	3/25 COMPLETION DA	λΤΕ	Min:	Max:			
Contract Description: Rt 70, South Branch Rd/North Branch Rd to Woodview Dr							
Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat Al	t Set:	Cat A	It Member:	
0006 155018M	1.000	40,000.00000	40,000.00				
FIELD OFFICE TYPE F SET	rup u						
0007 155036M	8.000	9,000.00000	72,000.00				
FIELD OFFICE TYPE F MAINTENANCE	МО						
Section Totalo			¢112.000.00				

Section Totals:

\$112,000.00



		т	ds			Page 10 of 11	
Contract ID: 24126			Counties:	OCEAN			
Letting Date: July 30,	, 2024		District(s):	C1			
Call Order: 126			Project(s):	0070322			
Contract Time: 09/23/2	5 COMPLETION DA	TE	Min:	Max:			
Contract Description:	Rt 70, South Branch	n Rd/North Brand	ch Rd to Woodv	iew Dr			
Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	Non-Participatir	ng	Cat Al	t Set:	Cat A	It Member:	
0002 152015P	1.000	20,000.00000	20,000.00				
POLLUTION LIABILITY INSUR	ANCE DOLL						
Section Totals:			\$20,000.00				



	т	abulation of Bi	ds			Page 11 of 11
Contract ID: 24126		Counties:	OCEAN			
Letting Date: July 30, 2024		District(s):	C1			
Call Order: 126		Project(s):	0070322			
Contract Time: 09/23/25 COMPLETION DA	ATE	Min:	Max:			
Contract Description: Rt 70, South Branc	h Rd/North Bran	ch Rd to Woodv	iew Dr			
Line No / Item ID Item Description	(1) ASPHAL SYSTEN					
Alt Set / Alt Member Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 Erosion Contro	Cat Alt Set:			Cat A	It Member:	
0008 158072M 2.000	2,500.00000	5,000.00				
OIL ONLY EMERGENCY SPILL KIT, U TYPE 1						
Section Totals:		\$5,000.00				
Contract Totals		\$3,421,558.14				
Cost Plus Time Totals		\$3,421,558.14				
() indicates item is bid as Lump Sum	1					

		Vendor Ranking		Page:
all Order:	126	Contract ID: 24126	Counties: OCEAN	
etting Date:	July 30, 2024 10:00 AM	District(s): C1		
		Contract Time: 09/23/25 COMPLETION DATE		
ontract Desc	ription: Rt 70, South Branch Ro	/North Branch Rd to Woodview Dr	Project(s): 007032	22
ontract Desci Rank	ription: Rt 70, South Branch Ro Vendor Na		Project(s): 007032	Percent Of Low Bid

STATE OF NEW JERSEY

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.